Item Description Qty Units Unit Price Extension Unit Price						Engineer	's Estimate	Jess Howard
4	Ref. No.		Description	Otv	Units			Unit Price
11			_					
25	-		, , , , , , , , , , , , , , , , , , , ,	_				· ·
191 1001 Pole to be Wired 3 wire	25						,	
44 1001 Strret Light Cir Riser with pull 2 EA \$850.00 \$1,700.00 \$1,421.27	191	1001	Pole to be Wired 3 wire	11	EA		·	\$183.33
MOD/19		1001	Strret Light Cir Riser with pull	2	EA		,	·
Distance	46		<u> </u>		LS		. ,	
91 1001 Pole Fiberglass Lamp Post 11 EA \$900.00 \$9,900.00 \$1,257.78 194 1001 Trenchless 1-1/2" Cable-In Duct 1,427 FT \$18.00 \$25,686.00 \$14.65 125 1001 Conduit, 2-1/2", Trenchless 52 FT \$39.00 \$2,028.00 \$59.75 19 1001 Controller Pole mount - 480v 1 EA \$3,800.00 \$3,800.00 \$4,596.86 Special 1001 Flood Light 50w LED 2 EA \$900.00 \$1,800.00 \$882.16 Special Tree service Tree Trimming 1 LS \$4,000.00 \$4,000.00 \$4,024.00 Subtotal: \$82,290.70 Contingency (15%): \$12,343.61 W DIFFERENCE FROM ENGINEER'S ESTIMATE \$94,634.31 W DIFFERENCE WITHIN LOWEST BIDDER (0) Addendum Ackldgmnt. Completed? Contract Compliance No. Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)	MOD/19		-					
194 1001 Trenchless 1-1/2" Cable-In Duct 1,427 FT \$18.00 \$25,686.00 \$14.65 125 1001 Conduit, 2-1/2", Trenchless 52 FT \$39.00 \$2,028.00 \$59.75 19 1001 Controller Pole mount - 480v 1 EA \$3,800.00 \$3,800.00 \$4,596.86 Special 1001 Flood Light 50w LED 2 EA \$900.00 \$1,800.00 \$882.16 Special Tree service Tree Trimming 1 LS \$4,000.00 \$4,000.00 \$4,000.00 \$4,024.00 Subtotal:			, 31				,	
125			ě i				. ,	-
19							,	· ·
Special 1001 Flood Light 50w LED 2 EA \$900.00 \$1,800.00 \$882.16							,	· ·
Special Tree service Tree Trimming 1 LS \$4,000.00 \$4,000.00 \$4,024.00 Subtotal: \$82,290.70 \$12,343.61 Contingency (15%): \$12,343.61 **SP4,634.31** **SP						,	,	
Subtotal: Contingency (15%): GRAND TOTAL: \$94,634.31 We define the proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)		1001	C			·	. ,	•
Contingency (15%): GRAND TOTAL: \$94,634.31 \$94,634.31 \$94,634.31 \$94,634.31 \$94,634.31 \$94,634.31 \$94,634.31	Special		Tree service Tree Trimming			\$4,000.00		\$4,024.00
GRAND TOTAL: \$94,634.31 % DIFFERENCE FROM ENGINEER'S ESTIMATE % DIFFERENCE WITHIN LOWEST BIDDER (0) Addendum Ackldgmnt. Completed? Contract Compliance No. Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)					Subtotal:		\$82,290.70	
% DIFFERENCE FROM ENGINEER'S ESTIMATE % DIFFERENCE WITHIN LOWEST BIDDER (0) Addendum Ackldgmnt. Completed? Contract Compliance No. Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)			C	Contingenc	y (15%):		\$12,343.61	
% DIFFERENCE WITHIN LOWEST BIDDER (0) Addendum Ackldgmnt. Completed? Contract Compliance No. Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)				GRAND T	ГОТAL:		\$94,634.31	
(0) Addendum Ackldgmnt. Completed? Contract Compliance No. Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)			% DIFFERENCE FROM ENGINE	EER'S ES	ГІМАТЕ			
Contract Compliance No. Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)			% DIFFERENCE WITHIN L	OWEST	BIDDER			
Bid Proposal Signature Affidavit Completed? Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)			(0) Addendum Ackld	lgmnt. Co	mpleted?			
Bonding Company (Form B2) Proposed Subs listed? Bid Affidavit Complete? (Form B9)			Contra	ct Compli	ance No.			31-4405752 (exp
Proposed Subs listed? Bid Affidavit Complete? (Form B9)			Bid Proposal Signature Aff	fidavit Co	mpleted?			
Bid Affidavit Complete? (Form B9)			Bonding Co	ompany (F	Form B2)			
				1				
Prime & (applicable) Subs Prequalified to Bid?	-							
			Prime & (applicable) Subs P	requalifie	d to Bid?			

					Enginee	r's Estimate	Jess Howard
	Item						
Ref. No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price

Total. 2. Inactive subs & JTS Tree & Landscapoth subs)

Jess Howard Electric (6630 Taylor Rd. Blacklick, OH 43004 Jonathan F. Howard, I Mary A. Spangler, Ma (614) 861-1300 marys@jesshoward.cc

					Engineer	's Estimate	Electric Co.
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Extension
4	1001	Pull Box, Medium Duty, 13"x24"	3	EA	\$618.00	\$1,854.00	\$2,052.00
11	1001	Circuit ovhd #2 Aluminum 2 wire	484	FT	\$3.80	\$1,839.20	\$3,542.88
25	1001	Foundation, Residential Post Top	11	EA	\$990.00	\$10,890.00	\$12,468.50
191	1001	Pole to be Wired 3 wire	11	EA	\$250.00	\$2,750.00	\$2,016.63
44	1001	Strret Light Cir Riser with pull	2	EA	\$850.00	\$1,700.00	\$2,842.54
46	1001	Removal Existing Ovhd System	1	LS	\$93.50	\$93.50	\$6,145.75
051- MOD/19 9	1001	Post Top Luminaire, Acorn Globe, Type 3 480v 60W LED 3K	11	EA	\$1,450.00	\$15,950.00	\$9,488.38
91	1001	Pole Fiberglass Lamp Post	11	EA	\$900.00	\$9,900.00	\$13,835.58
194	1001	Trenchless 1-1/2" Cable-In Duct	1,427	FT	\$18.00	\$25,686.00	\$20,905.55
125	1001	Conduit, 2-1/2", Trenchless	52	FT	\$39.00	\$2,028.00	\$3,107.00
19	1001	Controller Pole mount - 480v	1	EA	\$3,800.00	\$3,800.00	\$4,596.86
Special	1001	Flood Light 50w LED	2	EA	\$900.00	\$1,800.00	\$1,764.32
Special		Tree service Tree Trimming	1	LS	\$4,000.00	\$4,000.00	\$4,024.00
				Subtotal:		\$82,290.70	\$86,789.99
		С	ontingenc	y (15%):		\$12,343.61	\$13,018.50
			GRAND T	ΓΟΤΑL:		\$94,634.31	\$99,808.49
		% DIFFERENCE FROM ENGINE	EER'S ES	ГІМАТЕ			5.5%
		% DIFFERENCE WITHIN L	OWEST	BIDDER			N/A
		(0) Addendum Ackld	gmnt. Co	mpleted?			N/A
		Contra	ct Compli	ance No.			. 10/18/18, MAJ, 6108)
		Bid Proposal Signature Aff	idavit Co	mpleted?			yes
		Bonding Co	ompany (F	Form B2)			Federal Insurance Co.
			posed Sul				see note
		Bid Affidavit Cor	nplete? (F	Form B9)			yes
		Prime & (applicable) Subs P	1				yes
		· • • • · · · · · · · · · · · · · · · ·	-				ncy Subtotal Grand

ncy, Subtotal, Grand

					Enginee	r's Estimate	Electric Co.
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Extension
							s: Blue-J Surveying

aping (6/13: e-mailed

Co.

President nager

<u>m</u>

					Engineer	's Estimate	Asplundh C
D a M	Item	5	0.4	T T 1.			
Ref. No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price
4		Pull Box, Medium Duty, 13"x24"	3	EA	\$618.00	\$1,854.00	\$535.00
11	1001	Circuit ovhd #2 Aluminum 2 wire	484	FT	\$3.80	\$1,839.20	\$9.45
25	1001	Foundation, Residential Post Top	11	EA	\$990.00	\$10,890.00	\$1,170.00
191	1001	Pole to be Wired 3 wire	11	EA	\$250.00	\$2,750.00	\$400.00
44		Strret Light Cir Riser with pull	2	EA	\$850.00	\$1,700.00	\$1,800.00
46	1001	Removal Existing Ovhd System	1	LS	\$93.50	\$93.50	\$6,000.00
051- MOD/19		Post Top Luminaire, Acorn					
9	1001	Globe, Type 3 480v 60W LED 3K	11	EA	\$1,450.00	\$15,950.00	\$925.00
91	1001	Pole Fiberglass Lamp Post	11	EA	\$900.00	\$9,900.00	\$1,420.00
194	1001	Trenchless 1-1/2" Cable-In Duct	1,427	FT	\$18.00	\$25,686.00	\$24.00
125	1001	Conduit, 2-1/2", Trenchless	52	FT	\$39.00	\$2,028.00	\$25.00
19	1001	Controller Pole mount - 480v	1	EA	\$3,800.00	\$3,800.00	\$4,500.00
Special	1001	Flood Light 50w LED	2	EA	\$900.00	\$1,800.00	\$800.00
Special		Tree service Tree Trimming	1	LS	\$4,000.00	\$4,000.00	\$2,500.00
				Subtotal:		\$82,290.70	
		С	ontingenc	ey (15%):		\$12,343.61	
			GRAND T	ΓΟΤΑL:		\$94,634.31	
		% DIFFERENCE FROM ENGINE	EER'S ES	ГІМАТЕ			
		% DIFFERENCE WITHIN L	OWEST :	BIDDER			
		(0) Addendum Ackld	gmnt. Co	mpleted?			
		Contra	ct Compli	ance No.			11-25367
		Bid Proposal Signature Aff	idavit Co	mpleted?			
		Bonding Co	ompany (H	Form B2)			Travelers C
		Pro	posed Sul	os listed?			
		Bid Affidavit Cor	mplete? (I	Form B9)			
		Prime & (applicable) Subs P					
<u> </u>			-				1. Inactive C.C.#: Asp

					Enginee	r's Estimate	Asplundh (
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Unit Price
							surety's POA.

Asplundh Constructio 481 Schrock Rd. Columbus, OH 43229 James R. Hardiman, V Brian R. Bauer, Secy/ Richard Jennings (614) 580-0681 rjennings@asplundh.c

					En ain a	la Estimata	'anaturation
	Thorn				Engineer	's Estimate	onstruction
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Extension
4	1001	Pull Box, Medium Duty, 13"x24"	3	EA	\$618.00	\$1,854.00	\$1,605.00
11	1001	Circuit ovhd #2 Aluminum 2 wire	484	FT	\$3.80	\$1,839.20	\$4,573.80
25	1001	Foundation, Residential Post Top	11	EA	\$990.00	\$10,890.00	\$12,870.00
191		Pole to be Wired 3 wire	11	EA	\$250.00	\$2,750.00	\$4,400.00
44	1001	Strret Light Cir Riser with pull	2	EA	\$850.00	\$1,700.00	\$3,600.00
46	1001	Removal Existing Ovhd System	1	LS	\$93.50	\$93.50	\$6,000.00
051- MOD/19		Post Top Luminaire, Acorn Globe, Type 3 480v 60W LED 3K	11	EA	\$1,450.00	\$15,950.00	\$10,175.00
91	1001	Pole Fiberglass Lamp Post	11	EA	\$900.00	\$9,900.00	\$15,620.00
194	1001	Trenchless 1-1/2" Cable-In Duct	1,427	FT	\$18.00	\$25,686.00	\$34,248.00
125	1001	Conduit, 2-1/2", Trenchless	52	FT	\$39.00	\$2,028.00	\$1,300.00
19	1001	Controller Pole mount - 480v	1	EA	\$3,800.00	\$3,800.00	\$4,500.00
Special	1001	Flood Light 50w LED	2	EA	\$900.00	\$1,800.00	\$1,600.00
Special		Tree service Tree Trimming	1	LS	\$4,000.00	\$4,000.00	\$2,500.00
				Subtotal:		\$82,290.70	\$102,991.80
		C	ontingenc	ey (15%):		\$12,343.61	\$15,448.77
			GRAND T	ΓΟΤΑL:		\$94,634.31	\$118,440.57
		% DIFFERENCE FROM ENGINE	EER'S ES	ГІМАТЕ			25.2%
		% DIFFERENCE WITHIN L	OWEST	BIDDER			18.7%
		(0) Addendum Ackld	gmnt. Co	mpleted?			N/A
		Contra	ct Compli	ance No.			91 (expired, MAJ, 473)
Bid Proposal Signature Affidavit Completed?							yes
	Bonding Company (Form B2)						asualty & Insurance Co.
	Proposed Subs listed						yes
		Bid Affidavit Cor	nplete? (F	Form B9)			yes
		Prime & (applicable) Subs P	requalifie	d to Bid?			yes
-		•	-				lundh 2 Missing

lundh, 2. Missing

					Enginee	r's Estimate	onstruction
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Extension

n Corp.

⁷.P.

Treas.

om

					Engineer	's Estimate	Complete Gener
	Item						
Ref. No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price
4		Pull Box, Medium Duty, 13"x24"	3	EA	\$618.00	\$1,854.00	\$1,000.00
11		Circuit ovhd #2 Aluminum 2 wire	484	FT	\$3.80	\$1,839.20	\$4.00
25		Foundation, Residential Post Top	11	EA	\$990.00	\$10,890.00	\$2,800.00
191		Pole to be Wired 3 wire	11	EA	\$250.00	\$2,750.00	\$400.00
44		Strret Light Cir Riser with pull	2	EA	\$850.00	\$1,700.00	\$1,200.00
46	1001	Removal Existing Ovhd System	1	LS	\$93.50	\$93.50	\$2,000.00
051-							
MOD/19		Post Top Luminaire, Acorn					
9		Globe, Type 3 480v 60W LED 3K	11	EA	\$1,450.00	\$15,950.00	\$1,000.00
91		Pole Fiberglass Lamp Post	11	EA	\$900.00	\$9,900.00	\$1,750.00
194		Trenchless 1-1/2" Cable-In Duct	1,427	FT	\$18.00	\$25,686.00	\$18.00
125		Conduit, 2-1/2", Trenchless	52	FT	\$39.00	\$2,028.00	\$47.50
19	1001	Controller Pole mount - 480v	1	EA	\$3,800.00	\$3,800.00	\$6,000.00
Special	1001	Flood Light 50w LED	2	EA	\$900.00	\$1,800.00	\$1,450.00
Special		Tree service Tree Trimming	1	LS	\$4,000.00	\$4,000.00	\$3,000.00
			ı	Subtotal:		\$82,290.70	
		C	ontingenc	y (15%):		\$12,343.61	
			GRAND T	TOTAL:		\$94,634.31	
		% DIFFERENCE FROM ENGINE	EER'S ES	ΓΙΜΑΤΕ			
		% DIFFERENCE WITHIN L	OWEST 1	BIDDER			
		(0) Addendum Ackld	gmnt. Co	mpleted?			
		Contra	ct Compli	ance No.			31-4366382 (ex
Bid Proposal Signature Affidavit Completed?							·
	Bonding Company (Form B2)						
		Pro	posed Sul	s listed?			
		Bid Affidavit Cor	nplete? (F	Form B9)			
		Prime & (applicable) Subs P		,			

					Enginee	r's Estimate	Complete Gener
	Item						
Ref. No.	No.	Description	Qty	Units	Unit Price	Extension	Unit Price

Complete General Co. 1221 E. Fifth Ave. Columbus, OH 43219 Lee A. Guzzo, COB (614) 258-9515 lguzzo@completegen@com

					Fngineer	's Estimate	al Construction
	Item				Engineer	3 Estimate	ar construction
Ref. No.	No.	Description	Qty	Units	Unit Price	Extension	Extension
4	1001	Pull Box, Medium Duty, 13"x24"	3	EA	\$618.00	\$1,854.00	\$3,000.00
11	1001	Circuit ovhd #2 Aluminum 2 wire	484	FT	\$3.80	\$1,839.20	\$1,936.00
25	1001	Foundation, Residential Post Top	11	EA	\$990.00	\$10,890.00	\$30,800.00
191	1001	Pole to be Wired 3 wire	11	EA	\$250.00	\$2,750.00	\$4,400.00
44	1001	Strret Light Cir Riser with pull	2	EA	\$850.00	\$1,700.00	\$2,400.00
46	1001	Removal Existing Ovhd System	1	LS	\$93.50	\$93.50	\$2,000.00
051-							
MOD/19		Post Top Luminaire, Acorn					
9	1001	Globe, Type 3 480v 60W LED 3K	11	EA	\$1,450.00	\$15,950.00	\$11,000.00
91		Pole Fiberglass Lamp Post	11	EA	\$900.00	\$9,900.00	\$19,250.00
194	1001	Trenchless 1-1/2" Cable-In Duct	1,427	FT	\$18.00	\$25,686.00	\$25,686.00
125	1001	Conduit, 2-1/2", Trenchless	52	FT	\$39.00	\$2,028.00	\$2,470.00
19	1001	Controller Pole mount - 480v	1	EA	\$3,800.00	\$3,800.00	\$6,000.00
Special	1001	Flood Light 50w LED	2	EA	\$900.00	\$1,800.00	·
Special		Tree service Tree Trimming	1	LS	\$4,000.00	\$4,000.00	,
				Subtotal:		\$82,290.70	\$114,842.00
		C	ontingenc	y (15%):		\$12,343.61	\$17,226.30
		(GRAND T	ГОТАL:		\$94,634.31	\$132,068.30
		% DIFFERENCE FROM ENGINE			39.6%		
		% DIFFERENCE WITHIN L			32.3%		
(0) Addendum Ackldgmnt. Completed?							N/A
Contract Compliance No.							p. 9/14/17, MAJ, 6056)
Bid Proposal Signature Affidavit Completed?							yes
	Bonding Company (Form B2)						Arch Insurance Co.
	Proposed Subs listed?						no subs
		Bid Affidavit Cor	nplete? (F	Form B9)			yes
		Prime & (applicable) Subs Prime	requalifie	d to Bid?			yes

					Enginee	r's Estimate	al Construction
Ref. No.	Item No.	Description	Qty	Units	Unit Price	Extension	Extension

nstruction Co.

eral.com